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Special Instruction: 
 

1. viuh mRrj&iqfLrdk ds eq[; i`’B ds Åij ck;ha vksj fn, x, o`r esa iz”u&i=  

lhjht vo”; fyf[k,A 

You must write Question Paper Series in the circle at top left side of title  

page of your Answer-book. 

 

2. Ikz”uksa ds mRrj nsrs le; tks iz”u&la[;k iz”u&i= ij n”kkZbZ xbZ gS] mRrj&iqfLrdk  

ij ogh iz”u&la[;k fy[kuk vufok;Z gSA 

While answering your Questions, you must indicate on your Answer-book 

 the same Question No. as appears in your Question Paper. 

 

3. mRrj iqfLrdk ds chp esa [kkyh iUuk@iUus u NksfM+,A 

Do not leace blank page/pages in your Answer-book. 

 

4. lHkh iz”u vfuok;Z gSaA 

All questions are compulsory. 

 

5. xzkQ isij mRrj iqfLrdk ds chp esa layXu dhft,A 

Graph paper must be attached in between the Answer-book pages. 

 

6. js[kkxf.kr okys iz”uksa dh vkd`fr vfuok;Z gSA 

Drawing the diagrams of Geometrical questions is compulsory. 

 

7. bl iz”u&i= esa 34 iz”uksa dks pkj [k.Mksa v] c] l rFkk n esa ck¡Vk x;k gSA [k.M&v 

iz”u la[;k 1 ls 10 rd izR;sd iz”u 1 vad okys] [k.M&c iz”u 11 ls 17 rd 2 vadksa  

okys] [k.M&l iz”u la[;k 18 ls 29 rd 3 vadksa okys rFkk [k.M&n iz”u la[;k 30 ls 

34 rd 5 vadksa okys iz”u gSA 

Question paper consists of 34 questions divided into three sections A,B,C  

and D.Section-A from question no 1 to 10 of 1 mark each, Section-B from  

question no.11 to 17 of 2 marks each, section-C from question no. 18 to 29  

of 3 marks each and Section-D from question no 30 to 34 are of 5 marks each. 

 

8. jQ dk;Z iz”u ds lkFk dhft,A 

Rough work should be done alongwith the question. 
 

 
 

 

 



 

 

 

Hkkx&¼v½ 
 

(Section-A) 
 
 

1 vad okys iz”u 

 
All Questions carries 1 mark each. 
 

iz-1 12] 15 o 21 dk H.C.F. Kkr djksA 

(a)  3 (b) 5 (c) 7 

Find the H.C.F. of 12, 15 and 21  
(a)  3 (b) 5 (c) 7 

 

iz-2    f}?kkr cgqin ds ”kwU;dks dh la[;k gSaA 

   (a) 4 (b) 2 (c) 3 
  Number of zero's in quadric polynomial are 
   (a) 4 (b) 2 (c) 3 

iz-3 jSf[kd lehdj.k ;qXe esa ;fn 
  

  
 
  

  
 rks lehdj.kksa dk gy gksxk] 

 (a)  dsoy ,d (b)  vusd (c) dksbZ ugha 

 In pair of linear equation if 
  

  
 
  

  
 then system of equation will be 

 (a) Exactly one sol. (b) Infinite sol. (c) No sol. 

iz-4 fofordj D= …….. - 4ac 

 (a) c2
 (b) x2 (c) b2 

 Discriment  D = ……. - 4ac 
 (a) c2

 (b) x2 (c) b2 

iz-5 lekUrj Js.kh esa n oka in an= ……. + (n-1)d 
 (a) b (b) a (c) x 
 nth term of an A.P given an = …… + (n-1)d is 
 (a) b (b) a (c) x 

iz-6 ikbFkkxksjl iz;s; ds vuqlkj (3)2 +…… = (5)2 

 (a) (4)2 (b) (1)2 (c) (2)2 
 According to Pythagorus Theoram (3)2 +…… = (5)2 
 (a) (4)2 (b) (1)2 (c) (2)2 

iz-7 lekUrj Jsa.kh 10, 5, 0, …… esa vxyk in gksxk \ 

 (a) 3 (b) - 5 (c) - 2 
 In A.P. 10, 5, 0, …… next term will be  
 (a) 3 (b) - 5 (c) - 2 

iz-8 loZ lfedk esa Sin2  + ……= 1 

 (a) tan2   (b) cot2  (c) cos2  

 In Trigonometric identity Sin2  + ……= 1 

 (a) tan2   (b) cot2  (c) cos2  

iz-9 fdlh o`r ds Li'kZ js[kk mls fdrus fcUnqvksa ij Li'kZ djrh gSA 

 (a) 1 (b) 2 (c) 0 
 A tangent to any circle touches it how many points 
 (a) 1 (b) 2 (c) 0 

iz-10 xksys dk vk;ru dk lw= 

 (a) 
 

 
  r2h (b)    

 

 
  r2 (c)   

 

 
  r3 

 Volume of sphere is  

 (a) 
 

 
  r2h (b)    

 

 
  r2 (c)   

 

 
  r3 



 

 

Hkkx&¼c½ 

(Section-B) 
2 vad okys iz”u 

All Questions carries 2 marks each 
 
iz-11 156 dks vHkkT; xq.ku[k.Mksa ds xq.kuQy ds :i es O;Dr djksA 
 

  Express 156 as a product of its prime factors. 
 
  17 

iz-12 8  dk fcuk yEch foHkktu izfØ;k fd, crkbZ, fd ;g lkar izlkj gS ;k vlkarA 

 

  Without actually performing the long division, whether 
  

 
 has terminating  

  decimal or non terminating repeating decimal expression. 
 
iz-13 x2-2x-8 cgqin ds “kwU;d Kkr djksA 

  Find the zeroes of the polynomial x
2
-2x- 8 

 

iz-14 (2, 3) vkSj (4, 1) fcUnqvksa ds chp dh nwjh Kkr djksA 

 

  Find the distance between the pair of points (2,3) and (4,1). 
 

iz-15 mu fcUnqvks ds funsZ”kkad Kkr djks tks fcUnqvksa (-1, 7) vkSj (4,-3) dks feykus okys js[kk[kaM dks 2:3 ds 

  vuqikr esa foHkkftr djrk gSA 

 

  Find the co-ordinates of the point which divides the join of (-1, 7) and (4,-3) in 

  the ratio 2:3 
 

iz-16 Sin60
0
 Cos30

0
+ Sin30

0
 Cos60

0 
 dk eku Kkr djksA 

  Evaluate Sin60
0
 Cos30

0
 + Sin30

0
 Cos60

0 

 

iz-17 ;fn P(E) = 0.05 gS rks 'E' ugha dh izkf;drk Kkr djksA 

 

  If P(E)=0.05, What is the possibility of ‘not E’? 
 

Hkkx&¼l½ 

(Section-C) 
 

3 vad ckys iz'u 

All questions carries 3 marks each. 
 
iz-18 2x2+3x+1  dks x+2 Hkkx dhft,A 

  Divide  2x
2
+3x+1 by x+2 

 

iz-19 fuEu jSf[kd lehdj.k ;qXe dks izfrLFkkiuk fof/k ls gy djsaA 

   x + y  = 14 
   x -  y  =  4 
  Solve the pair of linear equation by substitution method. 
   x + y  = 14 
   x -  y  =  4 



iz-20 ml AP ds izFke 22 inksa dk ;ksx Kkr djks ftlesa d=7 gS o 22oka in 149 gSA 
 

  Find the sum of first 22 terms of an A.P. in which d=7 and 22
nd

 term is 149. 
 

iz-21 ;fn Sin A =
 

 
  , cos A rFkk tan A Kkr djksA 

 

If Sin A =
 

 
  Calculate Cos A and tan A  

 

iz-22 
    

       
      

    
 = 2 Sec A loZlfedk fl) djksA 

  Prove the identity 
    

       
      

    
 = 2 Sec A  

iz-23 ml f=Hkqt dk {ks=Qy Kkr djks ftlds “kh’kZ  (2, 3),(-1, 0 )rFkk (2,- 4) gSA 

Find the area of triangle whose vertices are (2, 3), (-1, 0) and (2, -4) 
 

iz-24 10 m yEch ,d lh<+h nhokj fVdkus ij Hkwfe ls 8m ÅapkbZ ij fLFkr ,d f[kM+dh rd iagqprh 

  gSA nhokj ds vk/kkj ls lh<+h ds fupys fljs dh nwjh Kkr djksA 

A ladder 10 m long reaches a window 8 m above the ground. Find the 

distance of the foot of the ladder from base of the wall. 

 

iz-25 ,d fcUnq A ls tks o`r ds dsUnz ls 5 cm nwjh ij gS o`r ij Li”kZ js[kk dh yackbZ 4 cm gSA o`r 
  dh f=T;k Kkr djksA 

The length of a tangent form a point A at distance 5 cm from the center of the 

circle is 4 cm. Find the radius of the circle. 

iz-26 7.6 cm ,d js[kk[k.M [khafp,A mls 5%8 vuqikr esa foHkkftr dhft,A izR;sd Hkkx dks ekfi,A 

Draw a line segment of length 7.6 cm and divide it in the ratio 5 : 8. Measure each part. 

 

iz-27  fdlh dkj ds nks okbZij dHkh vkPNkfnr ugha gksrsA izR;sd okbZij dh ifÙk dh yackbZ 25 cm gS 

  o 115
0
 ds dks.k rd lQkbZ dj ldrk gSA ifÙk;ksa dh izR;sd cqgkj dk {ks=Qy Kkr dhft,A 

 
A car has two wipers which do note overlap. Each wiper has a blade of length 25 cm 

sweeping through an angle of 115
0
 . Find the total area cleaned at each sweep of the 

blades. 

 

iz-28 vkdf̀r esa Nk;kafdr Hkkx dk {ks=Qy Kkr dhft, ;fn dsanz 0 okys 

 nksuksa ldsanzh; o`rksa dh f=T;k,a dzeka”k% 7 cm o 14 cm gS 

 rFkk AOB =400 

 
Find the area of the shaded region, if radii  of the two 

concentric circles with centre O are 7 cm and 14 cm 

Respectively and   AOB =400 
 

iz-29    ,d ikls dks ,d ckV Qsadk tkrk gS fuEufyf[kr dks izkIr djus dh 

 izkf;drk Kkr dhft,A 
 

(i) ,d vHkkT; la[;k  (ii) ,d fo’ke la[;k 

 
 
 

 
 

  

             

            40
0
 

              



 

A die is thrown once. Find the probability of getting. 
 

(a) Prime number  (b) an odd number. 
 

 

Hkkx&¼n½ 
 

(Section-d) 
 

5 vadksa okys iz”u 
 

All questions carries 5 marks each. 
 

 

iz-30  ,d vk;rkdkj [ksr dk fod.kZ mldh NksVh Hkqtk ls 60 ehVj vf/kd yEck gSA ;fn cM+h 

Hkqtk NksVh Hkqtk ls 30 ehVj vf/kd gS rks [ksr dh Hkqtk,a Kkr dhft, 

 

The diagonal of a rectangular field is 60 m more than the shorter side. If 

the longer side is 30 m more than the shorter side. Find the sides of the 

field. 
 
 
 
iz-31 ,d isMLVy ds f”k[kj ij ,d 1-3 ehVj Åaph ewfrZ yxh gS Hkwfe ds ,d fcUnq ls ewfrZ ds 

f”k[kj dk mUu;u dks.k 60
0
 gS vkSj mlh fcUnq ls isMLVy ds f”k[kj dk mUu;u dks.k 45

0
 

gSA isMLVy dh ÅapkbZ Kkr dhft,A 
 

A statue, 1.6 m tall stands on the top of a padestal. From a point on the ground, 

the angle of elevation of the top of the statue is 60
0
 and from the same point the 

angle of elevation of the top of the padastal is 45
0
 . Find the height of the 

padestal. 
 

iz-32  ;fn fdlh f=Hkqt dh ,d Hkqtk ds lekarj vU; nks Hkqtkvksa dks fHkUu&2 fcUnqvksa ij izfrPNsn 

djus ds fy, ,d js[kk [khaph tk, rks ;s vU; nks Hkqtkvksa dks lekuqikfrd izfrPNsn djrh gSA 

If a line is drawn parallel to one side of a triangle to intersect the other two 

sides in distinct points, the other two sides are divided in the same ratio. 

iz-33  Øe”k% 6 cm, 8 cm vkSj 10 cm f=T;kvksa okys /kkrq ds rhu Bksl xksyksa dks fi?kyk dj ,d 

cM+k Bksl xksyk cuk;k tkrk gS bl xksys dh f=T;k Kkr dhft,A 

Metaltic spheres of radii 6 cm, 8 cm and 10 cm respectively are melted to 

form a single solid sphere. Find the radius of the resulting sphere. 

 

 

 



iz-34   uhps fn, gqvk caVu ,d d{kk ds 30 fo|kfFkZ;kas ds Hkkj n”kkZ jgk gSA fo|kFkhZ ek/;d Hkkj Kkr 

 dhft,A 

Hkkj ¼fd-xzke½ esa 40&45 45&50 50&55 55&60 60&65 65&70 70&75 

fo|kfFkZ;ksa dh la[;k 2 3 8 6 6 3 2 

The distributions below gives the weights of 30 students of a class. Find 

the median weight of the students. 

Wt (in Kg) 
40&45 45&50 50&55 55&60 60&65 65&70 70&75 

No. of Students 

2 3 8 6 6 3 2 

 


